Manuals+ — User Manuals Simplified.

HySecurity SlideDriver Il Slide Gate Operator Instructions

Home » HySecurity » HySecurity SlideDriver Il Slide Gate Operator Instructions

HySecurity SlideDriver II Slide Gate

Operator Instructions

SLIDEDRIVER Il HEATER

A cAuUTION

Turn off power to the gate operator and take the
necessary precautions to avoid electrical shock.

The following instructions are intended to assist the user in the installation of the heater unit for use on the
SlideDriver Il gate operators. The heater prevents components from freezing and not operating properly. Please
read all assembly instructions before installing the kit.

PARTS

Heater strip

Heater cord

Romex connector

Cover plate

Thermal switch

Heater contactor

HARDWARE

e 1/4-20 x 1 in bolt
« 1/4 in washers
e 7/16 in nuts


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/hysecurity
https://manuals.plus/hysecurity/slidedriver-ii-slide-gate-operator-manual.pdf

« 8-32 x 1/2 in self-tapping screw

TOOLS

« Standard wrenches
o #29 drill bit (0.136 in)

PREPARATION

Loosen
cover
SCrews

Figure 1. Remove the Cover



Power
Switch

Figure 2. Set Power Switch to OFF

. Remove cover.

. Set the power switch to OFF.

. Carefully unclamp the drive wheels.

. Remove the SmartTouch 720/725 Controller.

. Drill a #29 (0.136 in) hole in the back of the electrical enclosure (Figure 3).

Figure 3. Remove SmartTouch 720/725 Controller

Install the thermal switch in the hole and fasten with two 8-32 x 1/2 in self-tapping screws (Figure 4)



Figure 4. Install Thermal Switch
INSTALL THE HEATER

7. Remove the two 1/4 in bolts attached to the pin tabs.
8. Remove the pins. Lift the pivot arms to make the pins easier to remove (Figure 5).

Figure 5. Remove Pivot Arm Pins

9. Slide the two pivot arms and motors out as a complete unit (Figure 6).

7
)




e

/| @

Figure 6. Remove Pivot Arm Assembly

10. Install the heater strip vertically in the drive post with the terminals down and facing out with the 1/4-20 x 1 in
bolts (Figure 7).




Figure 7. Install Heater Strip

Note: Use a flat washer on the outside of the drive post and a flat washer on the inside of the drive post as a stand
off keeping the heater strip from contacting the paint of the drive post. Complete the mounting by adding the 7/16
in nuts.

HEATER WIRING (FIGURE 10 AND FIGURE 11)

11. Connect the heater cord to the heater strip; be sure to bend the terminals up so that they contact no metal
surfaces.

12. Use the romex connector and lock washer and route the heater cord through the bottom hole in the pivot post
(Figure 8).

13. Take the romex connector and tighten it down onto the heater cord.

14. Install the cover plate with two 8-32 screws (Figure 9).

Figure 8. Strain Relief

Figure 9. Strain Relief and Cover

15. Take the heater cord up to the electrical box and run it through one of the knockouts. Use the plastic cord
connectors to attach to the panel wall.

16. Install the heater contactor in the electrical box and connect the heater contactor to the power supply or motor
contactor: L1 to L1 and L2 to L2.

17. Connect one lead of the heater cord to terminal T1 of the heater contactor and connect the other to T2.



18. Install thermal switch to power supply -V and heater contactor A2.
19. Connect power supply V+ to heater contactor A1.

FINISH INSTALLATION

20. Clean any debris from drilling the thermal switch hole.

21. Install the SmartTouch 720/725 controller on the mounting brackets and reconnect any disconnected wires.
22. Reinstall the pivot arms and pins.

23. Carefully clamp the drive wheels.

24. Set the power switch to ON and test cycle the gate.

25. Close the electrical box and install the cover.

. PIGTAILS FROM MX001875

A

T
| |
| |
== — (MX4097 OR MX5106)
(MX001875) LQI\O_ AQ MX5333-1475 /N I
L e 2 Mo
[ MX5333-14.75 /T TV QAO&O-D(/A
S (MX4105) \ (MX4105) DC OK -V+V
41— s -— - Ve
a
DDOr™M L DDD| -
k@ LCID18BD CONTACTOR LC1DI8ED CONTACTOR
g & B 3 SRS
oD D-D-D
30 0] |[-p &
—_— e
/L GND L2 L1
vowow -3
TO MOTOR LM~ ]
(EXISTING WIRING) —
EXISTING WIRING
- MX3159 - 12"
" Mx000860 LA L
HEATER KITS:
MX5471 (PRODUCTION), MX5474 (PARTS) = 120V
MX5472 (PRODUCTION), MX5475 (PARTS) = 240V
MX5473 (PRODUCTION), MX5476 (PARTS) = 480V
@ MODELS COVERED:
= SlideDriver Il 15
@ SlideDriver 11 40
@ Drawing REV B

Figure 10. Heater Strip Wiring, non-VFD



TO VFD

| T

(MX001875) LQ\FO_

THERMAL
SWITCH
NO

EXISTING WIRING <] [
PIGTAILS FROM MX001875
- T
!
|
- (MX4097 OR MX5106)
M MX5333-14.75 ra=ri
L e A w2 S N
M MX5333-14.75 OO
(MX4105) DC OK-v+V

| —

.__..6_)_ ©

B-B-Bf -

LCI1D188D CONTACTOR

D-B-B

T/ GND L2 L1

- MX3159 - 12"
, MX000860 M

[ — P — ]
Q: DQ
A

g ) W——

EXISTING WIRING «]~_ "]

HEATER KITS: TO VFD
MX5472 (PRODUCTION), MX5475 (PARTS) = 240V
MX5473 (PRODUCTION), MX5476 (PARTS) = 480V

MODELS COVERED:
SlideDriver 1l 50F
SlideDriver 1l 80V
SlideDriver Il 200V

Drawing REV B

Contents

1 Documents /
Resources
2 Related Posts

Documents / Resources

Figure 11. Heater Strip Wiring, VFD



HySecurity SlideDriver Il Slide Gate Operator [pdf] Instructions
SlideDriver 11, SlideDriver Il Slide Gate Operator, Slide Gate Operator, Gate Operator

Manuals+, home privacy


https://manuals.plus/m/6a6eb3558bf00783b1c120edc39b84e6cda5d0dec7fb92f7e6a606a0b3aab74c
https://manuals.plus/m/6a6eb3558bf00783b1c120edc39b84e6cda5d0dec7fb92f7e6a606a0b3aab74c_optim.pdf
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/privacy-policy

	HySecurity SlideDriver II Slide Gate Operator Instructions
	Documents / Resources


